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Question @a): 12x3=51
The glacier moved 57 1yards in 3 days.
Question @b): Fx9=2=-153
After 9 days, the glacier has moved more
than 15 yards.
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Question @: 23=1
e BT
Olivia runs 9 % km.

Question o a): Kate’s method: Convert mixed number to
improper fraction. Multiply improper fraction
by the whole number. Convert improper
fraction answer to a mixed number.
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Question @ b):35=7 135=1
1,.5-3 gy 1l %

2%2=7 *10=10

35 1 9 _ o9

Z=173 10=91
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2.11 }; m of sticky tape is needed to seal 5 boxes.
2 =5
3.a) 12x3=3x3
15
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b) 12x5=2x5
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. a) Yes, Louise does meet her target. She rows 13 % km
in 5 days.
b) It will take Louise 8 days to cycle more than 12 km.
. a) Circle: 12x 10
b) Circle:22x 13
Explanations will vary, for example, 5 x 8 = 40 so
51 x 8 will be greater than 40;3x 13 = 39 s02¢x13
wnll be less than 39 so will be less than 5 x 8
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